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4
4.1

y=f(x) Xo

y="1(x) X=X, ( s ) X=X,
Af (Xo): f(Xo"'AX)_ f(xo) Xo ( )

Xo Yic f(X) Xy ( N(X0'5) )
f(x) X, X, N (X,,90) X
f(x)< f(x,) Af = f(x)— f(x,)<0 N (X,,0) Xo f(x)

ﬂz f (X, +Ax)— f(X,)

X> X, <0
AX X— X,
. Af ,
AT&ESO f/(x,)<0
X < X, AL _T00-T() 55 jim A5 g f'(x,) =0
AX X=X, -0~ AX
f'(x,)=0 f'(x,)<0 f'(x,)=0
4.2
4.1 (Fermat )
f(x) 1° N(X,,0) vxe N(x,,0) F(x)<f(x,)(
> (X)) 2° X f'(x,)=0
4.1
y="f(x) [ab] f/(a)fl(b)<0
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e@b)  F()=0( X )
f'(x) ab f/(a)<0 f(x) x=a
x, f(x)<f(@) fay  f(x) f'(b)>0 x=b
x, fo)<f@ fo)  fx f(x)
X, € (a,b) f'(%,) =0
f/(a)<0  f(b)>0¢( )
g <
Ve, >0 35,50 O<x-a<d,

f;(a)—gl<w<f;(a)+g1
glz—%f;(a)>o
f(x)—f(a)<%f;(a)(x—a)<o
f(x) < f(a) fa) f(x) [ab]
f'(b)>0 Ve,>0 30,>0 O<b-x<0,
f'(b)—¢, Yr)- () f'(b)+¢,
Xx—b
gzzéf’(b)>0
f(x)— f (b) <g f'(b)(x—b) <0
f(x) < f(b) f (b) f(x) [a,b]
f(x) [ab] f(%) f(x)
[a,b] Xo %8, X, =D X, € (a,b) f'(x,)=0

4.2 (Rolle) y=1(x) 1° [a,b]
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2° (a,b) 3° f(a)=f(b)
3¢ e(a,b) f'¢)=0C x=¢ )
f(x) [ab] f(a)= f(b) f(x)
[a,b] f(x)=C Vxe[a,b] f'(x)=0 f(x)
[a,b]
f(&)= fux f(x) f(x) f(&) (&b
f'(&)=0
4.3 (Lagrange) f(x)
1° [a,b] 2° (a,b)
3¢ < (ab) -0
—a
Aa, f (a)) B(b, f (b)) AB %: K, AB
y00- ()= -O= B
FOO = 100-y00 = (- @) -0 D x—a)
F(x) [ab] F(@)=0, F(b)=0 3& e(a,b)
Fe=0  1g-—0=18
—a
1 (Rolle)
(4.1)
f(b)—f(a)=f'(&)(b-a) = f(a+O(b—a))(b—-a) (0<O<1)
3 www.tsinghuatutor.com 62796032
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FO) = 1(%) + F(E)(x =)

f (X, +h)=1f(x)+ f'(&)h

2
3 4
1 Wxe(@b) f'()=0 f(x)=c c
2 wxe(ab) f'(x)=9'(x) (a,b) f(x)=g(x)+c
y=1(x) y=9(x) (Xo: ¥o): X, € (a,b) f(x)=9(x)
3 f'(x) [ab] [a,b] X, X, L>0

[F06)— F ()| < Lx, — x|

L O<L<1 y = f(x)

4 Vxe(ab) f'xX)=0 y=1(x) (ab) ( ) f'(x)>0
y="f(x) f'(x)<0 C f'(x)<0) y="F(x) ( )
4

@ y=f(x) x X f(x)

F f(x) [ab]
@ y="f(x)
4.4 (Cauchy) f(x) g((x) (¢)) [a,b]
@ (a,b) g(b) = g(a), g'(x)#0 (a,b)
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£ f(o)-f(a) _ f'(5)
gb)-g(@) g’
4.3
f(x)
¢ G S
4.2 m,n f(x)=x"1-—x)" f'(x) (0,1) (B)
Mo @11 @©2 @©S3
®
f(0)=f()=0 £e(0)) f'(&)=0
') =mx"(1-%)" —=nx"(1-x)"" =x"*(L—x)"(m — mx - nx)
f'(x)=0 x e (0,1) X" tL-x)""#0 X, = M 0,0
m+n
&=%X f'(x)
4.3 () 1 [0, 1] f(1)=0,
M = in[%| f ()| £e(l2) f'(&)=2M
f(x) 1
&e(01)  [f(&)=2m Lagrange
f(x) [0,1] [0, 1] f(1) = (0)=0,
Xy €(0,1)  [f(xy)|=M = m[g>1<]| f (X))
(01 XM) tM-0=f ,(é:l)XM
O, D 0EM =F'()A-%,) &%) &elxy.D)
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2M =| /(&) [+ (@A) [F1(&) =max{ (&[T}

& ¢€(0,2) 2M <|f'(&)

E=1+£,(1,2) f'(&)z2M .
4
4.4 f(x) [L2] fQ=1(2=0 Fx)=(x-1*f(x)
3x, € (1L.2) F"(%,)=0 F'(x)
« D

F/(x)=2(x=1) f (x) +(x=1)" f'(x) x=1 F'()=0

F)=0F(2)="f(2)=0 38, €(1,2) F'(&)=0  F'(x [L&]
3E=%,€(L.E)c(1L2) F"(%,)=0
« 2
F"(x) #0 F'(X) (1,2)
F"(x) >0 F'(x) [12]
F)=0 xe(12) F()>0 Wxe®,2) F'(X)
F)=F(2)=0 38 € (1,2) F'(&)=0 F'(x)
3x, € (1,2) F"(X)=0
4.5  g(x)=x(x+1)(2x+1)(3x-1) 9'(x)=0 (-1,0)
9(x)
9'(x) 9'(x)
g(x)  (-o0,+) g(x) 4 =0 X,=-1
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Xy =—r Xy=—= g 3 éle(og) fze(—l,—%)

g'(x) 3 3 g'(x) (-10)

46 x>0

T X
> <arctan(x+1)—-—<—
X“+2X+2 4 2

1 x>0

T
1 arctan(x +1) — 7l 1

5 < <=
X°+2X+2 X 2

arctanl= % x € (0, ) f (x) = arctan x

A
arctan(x +1)_Z _f0-f@
X (x+1)-1

[11+x] Lagrange

T
arctan(x+1) — y. 1

D1 e csLxHD

1
1+ x

2

v
1 arctan(x +1) — = 1

< —

5 <
X°+2X+2 X
2

f(x)=(x*+2x+ 2)arctan(x+1)—%(x2 +2X42)—X
f(0)=0,
f'(x) = (2x + 2)arctan(x +1) —%(ZX +2)

= (2x + 2)[arctan(x +1) —%] >0
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x>0 f(x)>0
@(Xx) = arctan(x +1) —%—2,40(0) =0

—1<0, = p(x)<0

7 oy 2

4 7 f(x)eC0l (0 f(0)= f(1)=0
2f(5)+4t'(5)=0
F(x)=x*f(x)

F(x) e C[0]] (0) FO)=F@)=0 F(x)

§e(0l) F(5)=0 25 (£)+&*f'(£)=0 &#0
4 4
4 4 1

( )
4 4 2
4.1 Xo f(x)< f(x,)
f (%) f(x) )
XO
X=X, f'(x,)=0
f'(x,)=0 Xo f(x)

8 www.tsinghuatutor.com
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4.5 ( )
f(x) X Xo AfF(X)=F(X)—f(X,) X,

X=¥%, f(x) Af(x)>0 X, Af(x) <0
XO

4.8  fO)=-x [-11]

x-1 x<1
f(x)= f()=0
) {1—x x=1 ®

X<l Af =x-1-f(1)=x-1<0

x>1 Af =1-x-f(1)=1-x<0

x=1 Af <0 x=1

46 ( )

f(x) X, (X =8,%;) Y (X, %, + ) X, f'(x)
Xo X, f(x)

@ xe(x,-6,x) f'(x)>0 xe(X X, +6)  f'(x)<0 x=x,
@ xe(x,—5,x) f'(x) <0 xe(X,% +5)  f'(x)>0 x=x,
4.10 x*—3x+A=0 A

€))

@)

©))

f(x)=x*-3x+A f(x)
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f/(x) =3x2 =3 =3(x +1)(x—1)
f/(x)=0 X, =-1 x,=1
xe(-o-1)  f'(x)>0 f(x)
xe(-11) ' (x)<0 f(x)
xe(@+o)  F'()>0 f(X)

X, =-1 f(x) X, =1 f(x) f(x)

D f(-)=A+2 fQ)=A-2

( ) y=f(0 (-L+o) lim f (x) = —o0

X—>—0

f(x) (=01 f(x) (=01

f(=1)-f(Q) = (A+2)(A-2)>0

A A -4>0  |A>2
(©)) f(x) f(-D-f()=A*~4=0
f (x) (A =2
@ f) f@ lim £ (x) = +o0 f(x)
(-0,-1,(-11)  (L+wx) A <2
4.7 ( ) f'(XO):O f”(xo)<0 (>0) f(xo)
( )
4 4 3
1
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f(x) [a,b] [a,b] [a,b]

f(x) [ab]
4.11 y=x-5x"+5x+1 [-12]

y'=5x* —20x° +15x* =5x*(x —1)(x — 3)
y'=0 =0 Xx,=1 x,=3 y'=20x>-60x>+30x x, [-12]
y'(0)=0 y"(1)=-10<0
y0) =1 y@=2 y-)=-10 y(@2)=-7
y=1(x) [-12] y(-1)=-10 yd)=2

4.12 1<x<3e 1-(In3)’<Inx* -In*x<1

f(x) =2Inx—Inx f(x) [13e]
f’(x)=g—glnx
X X
f'(x)=0 X, =€ €[13e]
f(x,)=f(e)=2-1=1 f(1)=0

f (3e) = 2In(3e) - (In3e)® = In(3e)(1—In3) =1—(In3)?

max f =1 min f =1—(In3)?
xe[1,3e] xe[1,3e]
2 (a,b)
(a,b)

(a,b) (a,b)
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2007
f(x) (ab)
(a,b) (a,b) f(x)
(a,b) lim () =A lim (=B
4.13 x €(0,2) 4xInx > x> +2x-3
f(x)=4xInx—x*-2x+3
f(x) (0,2 f'(xX)=4+4Inx—2x-2
f'(x)=0 X, =1e (0,2)
lim £(x)=3>0  lim f(x)=8In2-5>0
fr)=2_2 #7x)=2>0 f()=0= min f(x)
X x(0,2)
f(x)>0
4.14  f(x)=+xInx (04)
f’(x):§+2\1&lnx:2\l&(2+lnx)
f'(x)=0 X, =€ € (0,+0)
xe(0,e?)  f'(x)<0 f(x)
xe(e?tw)  f'()>0 f(x)
X, =67 f(x)
Xlirpﬁlnx:o XIlrpoox/ilnx=+oo
12 www.isinghuatutor.com 62796032
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f(x) (0,40) fe?)=—e"
()
)
4 4 4
4.2 ) )
X y=f(x)
f'(x) f'(x)
£7(x) £(x)
4.8 | £7(x) > 0(< 0) y=f() ()
y=f(x) (%o, f (%)) f"(x) =0
f(x) X f(x)
f'(x)
@  f'(x) X (X, F (X)) y = f(x)
@ "X X (%o, (%)) y = f(X)
@  f'(0=0  f")=0 (%, f(x)) y=f(x)
4.9 y=~1(X) X, n

f/(X)=F"(X,)=A = f"(x,)=0 f™M(x,)#0

O n=2k X, f(x) () >0 X%
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f@9(x)<0  x, (k=L2,A)
@ n=2k-1  (x,,f(x)) y = f(X)
4.15 x=0 f(X)=e*+e™ +2cosXx

f'(x)=e*—e*—=2sinx f'(0)=0
f"(x)=e"+e*—2cosx f"(0)=0
f"(x)=e*—e*+2sinx f"(0)=0
f@(x)=e* +e* +2cosx
f®0)=4>0
4.9 x=0 f(x)
4.16 f(x)=x° C
A x=0 f(x) ® x=0 f(x)
© (0,1(0) y="1(x) © AOEO©
f'(0)=f"(0)= f"(0)= f “(0)=0 f®0)=5%0 ©
417  f(x) x=0 f'(0) =0
lim— Xy g

x->071—COoS X
® f(0) f(x) ® f(0) f(x)

© (0, f(0)) y=f(x)
® x=0 f(x) (0, £(0)) y=f(x)
() _, £7(0)=0 0, T (0))

x->071—C0S X
Xo f"(x)>0 f'(x)
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f(0)=0 f'(x) x=0 f (x)
X X f () x=0 f(x)
®)
4.18 L+x)* =1+ x  (A>1x>-1).
f(x)=(1+x)* —1- Ax
f(x)>0.

f/(x)=AQ+x)*" = A=2[A+x)*"-1]

f'(x)=0 f(x) x=0

x<0  f'(x)<0 x>0  f'(x)>0 f0)=0 f(x)
f(x)>f(0)=0 (L+x)* > 1+ Ax

4.19 O<a<b In9>2(b_a).
a a+b

(1+E) InE > 2(9—1)
a a a

2(9—1)
o a
In " > b

1+—
a

t=g, f(t)=(@+t)Int—2(L-1) t>1 f()=0

f/(t) =1j[_—t+lnt—2(t—l) f'(1) =0,
f”(t)=%(1—%)>0

= f't)>0,= f(t)>0

4.20 f(x) [a,b] , f@)="f(@), Ee(a,b)
w2y 2Uf (S
r@=5;
Rolle ix,€(a, b) f'(x,)=0
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21'(5)=1"(E)b-2)

FO)=(b-x°f'(x) F(b)=F(x)=0 Rolle
Igec(x, b)  F(&)=0
F'(x)==2(b—x)f'(x)+(b-x)*f"(x)

X=¢ 2(0-£)f'(E) =(b-2)*f"(S)

e(X, b) &=b f'(&)b-8)=21(5)

21'(5)

W ¢e(ab)

f(5) =

421 f(x) [ab] f(a)= f(b), f"(x) %0
D

A vxe(@b) f(x)-f(m=0 B f(x) (ab)

c Fe(ab), f'(&)=0 D fe(ab),  f(&)=0
® © we@b)  fO)-f®)=0 f(x)
Rolle £7(x) '(x) (ab)
£7(x) %0
f(a)=f(b), f"(x)=0 f'(x) (a,b)
®) D
4.22 k>0 f(x):lnx—§+k c
wmo @1 ©2 @3
fog=t-t X, =&
X €

f(0")=—oo, f(e)=k >0, f(+0)=-0 xe (0, e) f’(x)>0,:>f(x)T f(x)

X, €(0,e)
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xe(e, +0) f'(xX)<0,=f(x){ f(X) X, € (&, +0) c

4.23 f(x) (-0, +x) 1irr30f’(x):2

Iim(ﬂyzlm[f(x+l)—f(x)] c

X—0 X_C

X—C 2CX

y 20x
. [ X+cC 2C )2 x—c
Ilm(—j =1lim (1+—j =e%
X—0 X_C X—00 X C

Lagrange 1in;[f(x+1)— f(x)]:lirg f(&)-1=2

Ee (X, x+1) e**=2 C=—oif.

4 4 5

6] C lim f()=C lim f(x)=C  y=C y=f(x)

X—>+00

(@) X, lim f(x)=0 lim f(x)=00 X=X, y=Tf(X)

X—>Xg X—Xg

SlnX IimSIr\X:o y:O
X— 1 x> X —1

smx
lim = x=1
x—1 X — 1

3 y=ax+b Iirp(f(x)—ax—b):o y=ax+b

y = f(x) lim —= f(x) =a

X—>Fo0 X

XIirpw(f (x)—ax)=b

lim ) =a y = X+Sin X
X—>Fo0 X
lim———= f(x) =1l=a lim (f (x) —ax) = limsin x
X—>00 X X—>to0 X—
b
o F(x) = (3x* +1)(e* -1)

x-1
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lim £ (g =i O +DE -1 |,

x—1 x—1 X—1

(Bx* +1)(e* -1) ¥ o

lim f () = lim
x—1t x—1t b=l
x=1
2
2 X
lim f(x)= lim &DE -9 _
X—>—00 X—>—00 X—l
2 X
lim ()= lim 3HDE =0,
X—>+00 X—>+00 X—l
3

f(x)

2 X
i 100 _ jiin @+ LR
X4 X X—>+0 X(X—l)

X — 400

f(x)

2 X
tim 1) _ i S HDE -0
X—-o X X—>—0 X(X—l)

-3=a

5 xILrpoo[ U (X) F kX] - xILrEo[ (3X2 —:(11(:?( _l) i 3X]

2 X _ ) 2 X _ il
_ lim (3x“ +1)(e” —1) + 3x(x 1): im (3x“ +1)e* —3x 1:

I -3
X—>—00 Xx—-1 X—>—0 x-1
X — —00 y =-3(x+1)
4 6
4.25 1-e®=x (0, +»)

Ao.  ®1. (02 (0)3.
f(x)=1-e>-x f(0)=0

18  www.tsinghuatutor.com
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’ _ -2X 1 _ -} In_2
f'(x)=2e 1=0 Xy = 3
f"(x) = —4e™> <0 X,
In2 e N2 1
f(T):l—e —7—2(1 In2)>0
XILn:IOOf(X):—oo Xle(%,+oo), f(x)<0
ReC2x),  flx)=0
Xe(O,InTZ) f'(x)>0 f(x) f(x)>f(0)=0
Xe(m72,+00) f'(x)<0 f(x)
X, f(X) (m72,+oo) B
X, f(x) (0,+x)
f'(x) f'(x)
4.26 f(x) [0,+x) X € (0, + ) f"(x)=0 (0, +0)
y=f(x) (%os T(X,))
1 y(x) = F (%) + (%)X =X%p)
FO)=T0)—y(X) = 10x)— (%)= F'(%)(X=%,)
F() 0+ (%o, (%))
F(x) (0, +)
F'(x)=f'(x)— f'(X,), F'(X)=0
F'(x)=f"(x)=0 F'(x)>0 F"(x,)>0 F(x,)=0 F(X)
0<X<X,
19 www.tsinghuatutor.com 62796032
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F'(X)<0=F(X)y=F(x)>0
Xx>%  F'(X)>0=Fx) T=F(x)>0
F(x)=0 F(x) (0,+x)
F(X) >0 (X # X,)
2
y="1(x) (X, f(X))
X, # X, X,>X,  [%.%]  Lagrange
A& (X, X,)

f(x) = (%)
X, — X,

f'(&) =

(%, £(x,)), (%o, T(X))

fF(x) - f(xo)

f'($) = =k =1'(x,)
Xy = Xo
Rolle g ¢, € (X, &)
(&) =0 £7(x) % 0
. f(x)

421 f(x) (-1 lim=—>=a  f(x) x=0

A

®a (B)-a ©O0 ®
lim 2OV i 19 _ i £ x=0 a
x—0" X x—>0" —X x—=0" X
4.28 2" +2x2+x-1=0

22X +2x%+x-1=0

f(x)=2"+2x" +x-1 f(x)
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fr(x)=2*(In2)? +4
f"(x)=2*(In2)? +4
4.29  f(x) f7(x)+[f' ()] =2sinx, :C
@ f0)=0 x=0 y=1(x)
® f(O=0 x=0 y=1(x)
© f(0)=0 (0,f(0)) y = f(x)
® f(0)=0  (0,1(0) y=f(x)
f'0)=0  f"(x)+[f' (0] =2sinx f"(0)=0
£7(x) =2cosx-2[f'(x)]- f"(x) f"(0)=2>0
0,f(0) y=1(x) ®) ©

f"(0) =0 f'(0)=0, » O

21 www.tsinghuatutor.com 62796032
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